THOF10H27HIT RERZEEZDIX -FARGR

INEERX JBTHRRX

SHBEAH(A) BREEHE(B)
5 Z &t 5 £4 5t
33,106 | 36,227 | 69,333 19,924 21,313 | 41,237
SEER(B)/(A)
5 (%) Z (%) it (%) ZERAREN BRE BORE
60.18 58.83 59.48 41,237 40,071 1,166
BLES ZHEKE |7 K Al e TFER(%)
1 T8 LU | BAHES 4,769 11.90
2 U7 Bk |IERER 15,006 37.45
3 BR B |BEE 4,181 10.43
4 Pk 2th  |EREEN 16,115 40.22
B 40,071 100.00
HAIkE ITHREER
SHBEBH(A) BREEHE(B)
% £ 5 % £ 5
33,106 | 36,227 | 69,333 19,923 21,311 41,234
SEER(B)/(A)
5 (%) Z (%) it (%) SZERAREN BRE BORE
60.18 58.83 59.47 41,233 40,454 779
BEES | R F e BFER(%)
1 AAHE 3,904 9.65
2 TERER 9,125.628 22.56
3 NUHIHEE 3,155 7.80
4 HARRER 677 1.67
5 Nz 3,167 7.83
6 EENTEHOES 2,660 6.58
7 BE 1,683 4.16
8 EREEH 5,383.371 13.31
9 EHRER 9,439 23.33
10 SENES 1,117 2.76
11 HABTDLBH 143 0.35
BN 40,453.999 100.000

x) BOYIVIETRE 0.001F




THO6F10H27HHT REHFIFIEFEERRFEDR -HRER

SHHBESEH(A) REARE(B)
5 24 i 5 Z &
33,106 36,227 69,333 19,890 21,288 41,178
ZZ=E(B)/(A)
5 (%) Z (%) gt (%) sy e GRUBES MR
60.08 58.76 59.39 41,161 40,557 604
HRES HHEKA RESR Al RESR Al OB 5
1 ES 6,321 34,236 0 40,557
2 = BFF 6,031 34,526 0 40,557
3 Tl =2 6,830 33,727 0 40,557
4 R IEF 5,816 34,741 0 40,557
5 =E VN 5,842 34,715 0 40,557
6 B (& 5,772 34,785 0 40,557




